4.4 1TEHLNEHBERNDFiAL(p97)
(1) AEARADETR

QERNZTRANBRZELL

__ N N
—CI)IL;h-'ét%(j: ﬁqW@LAE f i | Bk
AREEEESIES. | -

2 ‘ . _
u:u[1—%j (4.18) g\ el e

EDPROLMASDIREr AEDFEFERESELEM
Tu=0&%HY . BEOHID R=0THRXIEU(2v) &%5,
v=Q/ AMNBKRHOENDTIE v N EBTIETHD.




i (2) EERHFRIM (p101)

BEDERE

S5 E N Ap, £1-131

2

gAYk h(E

hoPimPe AP P00 (a1)

Py

::Tual)ll.a) A ﬁ:‘ %1/%§ﬂ/lli;ko)ﬁ£§&éo

1224
Re

pg d2g

ud

(4.24) - Re=—<2320(%)

20



(1784 ] (P10) MRE50mm D& RNZ, FhE 33.54mPa-s, tL E 083
DiAM 2.85L/s MiEN TS, EDRS3I0MIZHITdiEERAVYF
HOUIZEELY 12mm D RIZBITHAREEZRD K,
(#21Q=2.85L/5=2.85x10"m>/s, A= rx0.05*/4=1.96x10">m?*
v=Q/A=2.85%x10"/1.96x10" =1.45m/s, p =0.83x10°kg/m?
v=ulp=3354x10"/0.83x10° =4.04x107°m*/s
Re=ud /v =1.45x0.05/4.04x10™> =1795< Re, = 2320

DT A=64/Re=64/1795=0,0357 s
2 |

2
h =/1§U—=O.0357>< 30 145 5 30[m)

20 0.05 2x9.8 ‘
r = (0_05/ 2) —~0.012=0.013m,U =2v \%\?:<-r;\\<\;§x<\\\\\s’\\\\\\\\\\m\\\i

2 2
u=u Ll—r—J = 2><1.45><(1— 0.013 ) =2.12[m/s]

Tty
/

R’ 0.025%



. NN
(3) EE 5 (p103) o ,
! | i
* BRDIGE - BEHRRTOD l I
S AEEEU LTS | N—
S5
momE -l (125 e \

ZE YR EERRKTEU D&

=0.656Re *%*  (4.26)

b
U
TERNDFEZEREL. EHLDIERE Yy TOFEK

22



4.5 HoWVEmEE-H-I-AERN
i D7 (p108)

EREDFEZEICIE. |

I

ERDLOIZEHmIIIZKRDS

CEMTELHLD T, EERMICHAR SN TE =,

E R {F)

CRAES)

H=8ZLi—

IEDE

ZFEREBEMAZKRD

T AR

DD

FAE RABERLERE 23



L—T 11— E (4.17 p110)

(¢/d
1 s I L LR L &/
0.09 —HEVE  14/1=1.14—2log(e/d) -
88? = 0.05
: \ '4\\‘- 0.04
0.06 ’Z =iy § 0.03
0.05 F\ SRS 0.02
o0s LEL NS e 2oL
. E=NVRZARNAN g :
VN 2 a
- 0.03 TN =D 0.004
0.025 \ ’ﬁ"‘@-\k N 0.002
0.02 EEZ\ = %ggg
/r NS ' §
/ 4~ N .
0.015 chRSSa1; | Fe,o\Q::::\ Y5000 00510-000 2
1 210g<£/ PR ) RN T 0000 05
T — /2) \;\ §7‘ < .0
0.01 (V2 305 Redk ™05 SELL10.000 001
0009 [TTTNS ==t11g 000 01
0.0 4168 2 1682 4682 468 2 468

l 108 104 0 10° 0
Re

EEOLA/ I A EADMEND AN I /d (e [TERN
BEDMHI JdIETERZ)DNDHOINSEMEND B EIRRIETEN
HEMTES, 4T FAERLERE




ERENHE (FH4.18 p110)ERNEREHXHIODOER

0.05—
(\0_&\\ \\' ==
2‘\\\%) N{UAY NS
0.0l RN '
By X
6NN
4 =
2N
S 0.00)
K8
% 4
o
e
0.000 1}
8
6,
4
2
0.000 0]
8
6 1 T
) n
0 10 2 4688
BRE d mm

2 468101 2 468

MRESNTNSEICDOLTIE, RIASERE (T LAX S
eldZROBDIEMTED , COMXTHSE

L—T 145

X

ANy <A

EEREERDD,

X

MLKROHT,

25



(4) EERBEROHARAEIEIVFIRE

Re > 2320: &Li%

Re < 2320: [@i#&




=& 41 BHLHEEDEERFZRE (p102)

X B F & G S % € B @
CRS) A | R, G fr) d wm .
7oy g~ ~ d=2.77~53. 1 (S{8F)
(Saph-Schoder) R.=1.4x10°~1.4%x10°
7 g v v A (1903) (7K)
’ s 174 .10 ES 4 i b d=22.01
(Blasius) 2= 0.3164/Re 3x10°~10 (Nussél©) R.=6% 10°~1. 5 x 10°
(1913) (1910) (ZE5)
5 % 7 | d=6(3FH)
(Lang) R,=3.26x10°
) —_— X, b - . o3 "‘ —s ~
D) o A — 0. 6104 o . . ARV bV T b d=3.61 1326.2 .
=0. ——tl X 10°~5 %10 (Stanton-Pannell) R,=2.2%x10°~4.3%x10
. (1915) ¢ (1914) Ok L 285%)
27 e =7 o - d=70~100 (#E)
(Jakob-Erk) 2=0. oo714+—°1~'€60*—1%‘3- 3% 10°~5 x 10° ¥R ARy Y 7 | Ro=8.6x10'~4, 62
(1924) e x 10°(K)
T T e~ Y : d=50~68
(Schiller - Hermann) | 2=0. 0054+—°1é—3—f.1?— 105~2 % 10° - "51930;’ 7| Re=2x10"~1.9x 10°
7(1930> - ¢ (7<)
= 5 > ” d=10x 100
(Nikuradse) 2=0.0032+—2:221 | 10%~3x10° = 7 7 ¥ | R=307x10°~3.24
(1931) R, (1930) % 105(7K)

AN o =S5
(Karman-Nikuradse)

2=1/{2log(R. V)

3x10°~3x 10°

PP AY Y
AAN, ZeRE )b,

(1932) —0. 8} 2 YaTex 2, T —e "

d ~N=/, =T
W & aue | =V {0'/3());’{" 21°g(”";g 3x10°~3 x 10° = 7 7 ¥ "
B A aoss) |40 314/10. 771 65log | 351053, 24 10° " ,

R.+(logR.)} 4

27



($51%E5]p103
REE 25mm, £X100m D7AEH LM EHE NZEE
1.13mm* /s DK 2L/ s BTN dLE, BIRIZKDEX
~NYRITESH,

[##]

>t
b
i

Q = 2L/S = 2X1O_3m3/8, A=7Z'><O,0252 /420-491X10_3m2

y=1.13mm?/s=1.13x10"°m?/s

v=Q/A=2x10"/0.491x10" =4.07m/s

Re = V0 _A07x0.025_ 527 10% 5 Re. = 2320

v 1.31x107°

FAFE RAREREZFRE(HIES)

28



Lo —
OO —i O =]
Lo OO AN —mOOOO O O (a)
= O AN m—mOO O O OO0 O© O o
N COC CRCRC Qe <
W COCEY I O O XD O O (@)
— = —
) o
(@) \0
o—HO
o (@]
o # o
.\ -
< TR
nNID
- ] N
| R | \\
L / | Y/
L !

N

TSR E

HNER

| 1
HLVE 141 =1.14—2log(e/d)

»

\

N\
—_— \
N
A

NN

0.025
0.02

0.015

29

B4FE RIAEREERE(HIREDS)



Li—T 48 E (p110) M5, Re =7.77x10" M EEDIEHLM
QEDEERIEIA=0.019¢1%,

EEEAYF(Z.21=0.019, /=100m,d =0.025m,
v=40Tm/sZRATBHE

g 2
h :/1£U— o = 64.2m
d 29 og p)
100 4.07¢ - |
=0.019x X — TN 4.07m/s
0.025 2x9.8 25mm
=64.2[m]
HREI(D ’ 100m ) BRE®@

B4FE RIAEREERE(HIREDS) 30



=]
(5186 )p112 S —
EE230mmOMRMEE| N2 N
TN [ NUNY MEEHE
TWha&EE. KS300mIZH| |, 3&\\\?1 LS TN TN
S~ o "I 8 ‘\\\\u‘g l\\_ \, B
SUDEMER 2.35mm? j;i%,\;%\\\\*ﬁ SN
Q N
FERRNN 9
(f21Q=56.7L/s=56.7x10  ° \@\\}i\\\ RIS
2 )N N .
b =QIA=56.7x10"/415x1 S M0l NN KT
1J g '@@. = \\\ ;@\ < \\ ‘\?0) .
Re od 1.36x0.23 17 £ 4 RN ii‘\\%\;&@&\o o
= i — =10 & ZONNAN % ol 1]
v 2.35x10° 4 *@fﬁ NN, | %
, ‘ 0.000 11\ ) Q&%‘\\\\}\\f’L N
EE230mmMOTERMED 5 NN
4 S>‘$‘\ %\ Yo /\\\\\\\
gld — OOOOZ&@%O @e\\\\\ \\‘D@ \\\\\
i BN «\i;iz N
0.000 0} ®,> N
8 : 25K
o o 2 468, 2 468, 2 468,
BARZ d mm

F4E RAEREERE(HIRE6/1) 31



Kb 0.1 - e/d
009\ < frrrrrrrrrerr e
' —FELVE 142 =1.14—2log(e/d) >
(p oo P70 005
: 7 - 0.04
0.06 ST
8 '@@' ;Z i\\\-‘_ \\(;p 0.03
0.05 [\ \HTAIT 5
\ TEh /NN b 0.02
o %/§\\\ 3 ") 0.015
0.04 M A= 0.01
: = NN T g ;
2\ NS TEA 0:008
& 0.03 BN 0.004
< \ AN b .
% 0.025 \ s - 0.002
A L | | . .
002 | B2 S S 1l
\\\\lﬁ \\ .
0.015 {72 ChRSSa1E /é\\ +— 0.000 2
h:ﬂ,-—a—_;ZO. BB 251 x| SLep 24 i 009 005y
0.01 V23 3.71 " BB 1 2% BB PSSy PP 1=1110.000 05
el .5 TINEL£0.000 001
0.008 2 468 -2 468 00008
< 68,03 2 4682 468 106 o7 2 468

Re
l.vos JIVAZ /I’ N\ Ly g7 \aboit) COJIFIIL CO

EEERBERDDHIIENTED,
2. EDHSZTEELI-FIENEIGETH D,

Il\l

1/ S

32



(fEERIRE 3]
150L/s DKZEZEHAERT,100mbd =Y DIELKEEE

0.5M UL TFIZT 5=DITIHELZEDRFZROHEILY,
f=1-L. EEEZR#MZ1=0.03L9 5,

(2] Q=150L/s=150x10"m>/s=0.15m>/s,
4Q

Q:AU:%dzu—n):E

2 2 2
h:iﬁu—:ig 1 4Q2 _ 162Q5€
d 29 d 2g{ ~d 277 -d”-g

| _o162-Q7-¢ \/16><O.03><O.152><100
27z h-g 2x 72%0.5%9.8
=0.407[m]=407[mm]

33



4.6
EDE

b T

EEIR{ERIE D Ap, F=1FiEEX A YR h

DALY DOEEIE (pl12)

h_ PP _Ap L0

X

PY

i p

Py
i LS O i R

ﬂag [m]

RIBRE A, T=(FHE LAY hiE

(4.11)

=A
PrY

MRS 2

4dm

VAR RS m=

4m 29

2" )
> (4.45)

LAJILRE Re =AMV

Vo
EOHEE A ab

2(a+Db)

[m] =

ANBES s
| BTEME A=axb

<

A

- nBiESs=2(a+b)

Y



BEOEmEE _ A
NRnEEs s

TR RS m =

[m]

ER A=zd"/4 A _ad’/4_d
BnBRSs=rd s xd 4

h:pl_pzzgg D° 0 v°

=A—>— [m]
00 4m 2¢g d 29
FasHRE Re = 2V _ 0V

4m d 1% 1%

EMERE d, =4m [m]



[T F RS DEK]

) A ﬁﬁzgw?n%mﬁ%%:mw_
3 d .

| AW F 7 =L = _

a, d-L 4L

m—  HEE A FNERSSETHE
- i{:',,mu \tr:ﬁtm j] F=A. P, ?&ﬂﬁﬁ*ﬁ a2 =S-L
T 77, . -[-i-/\lﬁﬁjfgj] r, = F2 _ A- P
a, S-L
P HAWB A =7, ETNIE
A d-p A-p A

—=——->0d=4—
L s-L S

4.
L AR i’] EEm=A/s&d B
Lo,

A
Y



({5IRE7Ip113
BrmE & 300mmx 450mm, EE 455m DEFF O EEL T, E

$1101.3kPafabs], iR E 20°C DZEREFHREIM/s TERT
HIZIX. EAOEEODEAEZLBIZT NIE KLV,
=L, ZUMEKE T NERAEICH 57 R B LED 14
(£ 0.55mm T&H 3.

B2) otk T A R |
e A(ErmE*E) _ 0.3x0.45 _0.09[m] -2 .

s(an#giE) 2x(0.3+0.45) A—axb
v=3m/s,v=15.12x10"°m2/s (3%1.3 p5) s=2(a+b)
Re = 4V _ 4Mu _ 4x0.09x3 _ 71 4,10% > Re, = 2320

1% v 15.12x107°

-3

MxEs =2 _ 05107 550153

d 4m 4x0.09

37
FAE RHEREREEREWDIET/D



8(1)9\ T 5 . L A L e/d
0.08 o HUE 1/\/_ 1.14— 210g(£/d) >
ZN - 0.05
0.07 ZM-
0.06 H LI A~ETTH 0:03
. 7
0.05 1% By =t N
- RE Y/ Ny 2 0.02
2V ZN TR Ji00
00 N 9
(S) //; ’§ \\\,\ 1] N \\coo 0
0.03 \T SN IRIE 4 0.004
0.025 ‘ 2 > 0.002
0.02 AN S :
ol SSEEE: e
(:010 YN SN s n = 0:000 2
31 \| PN+ —-1540.000 005]
_l_____21 E/d + 2-\’1 e N\\\\' / \\ 0.0001
e S T NS Uy ~0.000 05
0.01 0 o L 10,000 001
8882 T | - 6‘8 0.000 01
68,002 4682 468 06 - 2 468 i
Re
. &
Re=7.14x10", 4—=O.00153
m

A=0.024




H = P — P2
PY

A1 =0.024, 7 =455m, m=0.09m, v =3m/s AT IL

¢/ v°

h=A =0.024x

4m 29

Ap = p,— P,

¢ v°

4m 2¢ m]

455 y 3°
41x0.09 2x9.8

=13.9m

= pghIZ20°COERDEE

p=1.205kg/m* (F&1.3 p5) ZRATIIE

Pr— Py =

ogh=1.205x9.8x13.9 =164[Pa]

4.7 ERH

Z (pl14~122) 4RE

39



by

1.LA/ILRAE B <Re. ==~ =2320< &%
| %

>

0.1 ) R LE G A AL e/d
—_ 0.09 ‘ o
S 0 0.08 TS 147 =1.14—2 log(e/d)
. ), ’r 10 X 0.07 == 0.05
0.06 =t 1] ;
0.05 [\ @i;\ Sux WY ggg
e\ AN R 0.015
0.04 HZ SIN= Nl
= \\\':5_\_____“@ A 6
(Y ‘&\\\\\\h_—&'<\\e . 0
N T ‘
s 008 T N LT 0.004
0.025 ) Suy 0.002
0.02 N .
allii SSsts i
0.015 v S . .000 4
Y SRS 172 RS . ~0.000 2
SN T ~x0.000 005
0.01 L2 8\3.71 " Rev2 ) U 7 =1110.000 05
0.009 H—— e 10,9 TS¥EL 10.000 001
4 B A W 468112. RS 0.000 01
68,02 46802 4 681052 s 2 468,72 468,
e




4, ML DEEREERX~NYE

2 2
(Y LA R )
d 29 4m 29
RS LA/ LK Re = 2MY
N
_EOMERE A

AR RS m

- BhhBES s

[m]

41



